BERHE S BRI RBE S —BFHEN TR
2SN BT

8 50 R BN B30 R B B B B AT S bR A, 0 B A R O FERTTRI2E ST T FE R
BRENE S GRS, DA I SR 3Rl b, A iR i) St 2, 5 SR R
R AE 5T R BN & 5 1 5, 3 — 20 N FH 8 6t bR 511 P 2 R S A A 8 fift ke b 50 1) S R
AT NERIRZES TRT8 . BB G BARS MR SRR BAR, IRZIHE AR R 352 F DL
FRBAR S, MU R R 5 8, R iR S T BCE A AT . A B R TR AR
2=, ik, U HERE.
23] B#w:

LiB R oy, 2 AEAE S SRR AR T, RN AR TR s B S R R A
Jit, kD BRI IR R 5% e P 53 it e R B30 i 1 705

28I g, A DR SR BRI R e . BORS A AR SHER
SR ARTTE, RN ey v B0 A 5T ) BE A

3.3 xR UM ST R R A o, AR AR R ELAR R L B AR . B
REEMORTR, B EEE .
$IAES
Ei—: JBEEXNEERBA R
1
(EY+%, X>2,

log,x, O0<x<2.

AR 1. SRR f(X) = LA g(x) = f (X)) —K APAAFERE A,

W SEHCK R HUE E L2 :
G AFRLL 7y BEeR BON AR B bR B % s SR R B 1 o
e AR BR BT RUE s

R g(X) = F(X)—K BRDMAE RS

0 | S

Jike £ (X) = kA DASIR A SR

0
iy = (X) DS P y = K AR A A

3
@ﬁ@ﬁ%@%,M%E%EQKE(ZJ}



o gk

L A S 0 () >0, i K < (0,1) it
0. TR B P T AR bt AR ESR  JS MR AT 0, %40

B AR R T F4E, S HNEEE T ek B B G AC 2 o B e

ERZ: BYRHER AR

AR 2. BREL f(x) BRI EF R LA B K, BT y Bl AR AR 6, TR G 5 i 26
y=e"5HZy=xXH, N f(x)=

YT A Y HE BRI R i G S A A

fift: AT R f(X) BB L ANRAL — 6T y B FR — X T Bk y = X o Fr — i 2k
y=¢e"

N TSR EL £ () AT =R R AT R AR ke

y=e" KT HZL Y= XX — KTy #xF— T 1AHA— REL f(X)

AHESFI R EL f(X) =In(—x) -1

BL 45

SNEE

y=a"5 y=(§)x%$ y #XFR: y=log, x5y =log, X KT x HIXFK:
y=a'5y=log, X KTy =X LRI GARMIZPRIKAELT -

E=: R

g 3. i f(x)=a""+log, x(a>0,a=1) fEX i [1, 2] -ikkfi 5 /M2 fika,
sk a .

I3HT: AR B HOR SR SO RO R, 835 45 K e FAE
W 40<a<lit f(X)7E[L 2] immm, a>1n, f(x)7E[L 2] wimtis, 5ol mg

f () e A1 [1, 2] b2 e s

@)+ f (2)=a,.'.1+a+loga2=a,.'.a=%.



ISR

L ERN PR BN B B RS AR, EE vt A ZoR i #a >0 Ha#1? Nit4
EOR PR HR AR SR Ko 0 <a <1 fa > 1R ?

2. 73 RV FEANE o5 Z 40 W R T 59, R 0 80 RJE R i 2 2R g
ERMEREN ehrME. 2RISR FHEAE AR BT L NSHEEBIEIRE, /£
iz F 7y e M T TS A IR KRR T ) o A BB R A A it 4, A ISR, FH 2R
KT TT %

EEN: BREE
4. 20 f(x)=]lg x

B L0 6 . .
T ABBARE R R R o, AR RS B \

, #0<a<b, Hf(@)=f § ), ka+2b

AR AR NAEEEE
fi: 1E £ (x)=|lgx| mE%.

WHESHH0<a<l, 1<b, i f(a)=f(b), %—@a=@b,mb=§.
?%g@ﬁ=a+%=a+§,ﬁ%BﬁNQQL%ﬁ@E@tﬂEg@ﬁﬁ&@@i}h%ﬁ

Wik, pithg(a)>g(1)=3, XXa—>+0rf, g(a)—>+wo, HHRA(3+m0).

1.$@E%ﬁ%?%%:g@ﬁ=a+§z&5,%Umﬁﬁﬁi{kﬁﬁwyﬁﬂﬁ$ﬁ

B O<a<l, a%%ﬁﬁ%ﬁ%%#,%uﬁ%ﬁgﬁﬁ%ﬁﬁﬁﬁo

o M R TS TR R, UL 2 R TT e R R — 035 PR 7
I 4 BB 5 4 K LA S B4 7 VB8 B o 0 LA, R 187600 %
SR P B LA TR MR B e O R .

AT BhSHE

B S: R T (X) SR X X, (X %X, )0 AT

O FOeH+%)=100) T(x): @F0q-%)=T0)+T(x):

JCARICATS X% T+ F(x)
e BRGSO RE

4 f(x)=lgxiy, ERERHIEMRMAIRKT 52
o AELLI R R BN B AR, 25 BN EoE S BeeR B v .




fik: N F(x)=lgx
lg(x, +x,) =lgx Igx,, OFX;

9(x, - %,) =1g %, +1gx,, @3f;

TO)=T00) S oo 1) spimist, @at
X=X

f&p;ﬂg):mM;@&zdg&rg<m§%%gzuﬁ%ﬁg,@mﬁo

b, EREeHIERZERINF 52O, .

J=g o

==

1. B B A LA B KO BT, B8 6 K 385 Lo MR
2 ARHER AL T (X) =", MTRSURTERIIX . X, #8 f (4 +%)=f (%) F(%):
(%)+

f(x):

4% T (%) 5 USRI X, Xy # T (X +%,)=T(x)-f(x,), Ba f(x)GHA

3. 4R B f (X) =log, X, 3T AT X, Xy, 3 F(x-%,)=f (X

PERR? ATLUBAR BIH 4 B2 REEE T (%)= F (%)+ f (%) XufT? hELE %Ll

I, RERS DA SRR DL R R T T SR
INGE
TRNERSEE: FE0T R B & 5
PAIREAR . FERT BRI B 5 R R R AR R
WEEZ: pRITR. Hopdia. AR SHhREBED %k
PHRN AL A, R 45 & 5 R 5E R E VR ML AN I e AL



